
𝐂𝐋𝐀𝐒𝐒 −  𝟖         𝟏𝟐. 𝐋𝐈𝐍𝐄𝐀𝐑 𝐄𝐐𝐔𝐀𝐓𝐈𝐎𝐍𝐒 𝐀𝐍𝐃 𝐈𝐍𝐄𝐐𝐔𝐀𝐋𝐈𝐓𝐈𝐄𝐒 𝐈𝐍 𝐎𝐍𝐄 𝐕𝐀𝐑𝐈𝐀𝐁𝐋𝐄             𝐌𝐀𝐓𝐇𝐒  

 𝐆𝐞𝐧𝐞𝐫𝐚𝐥  𝐢𝐧𝐬𝐭𝐫𝐮𝐜𝐭𝐢𝐨𝐧𝐬 𝐟𝐨𝐫 𝐒𝐭𝐮𝐝𝐞𝐧𝐭𝐬: 𝐖𝐡𝐚𝐭𝐞𝐯𝐞𝐫 𝐛𝐞 𝐭𝐡𝐞 𝐧𝐨𝐭𝐞𝐬 𝐩𝐫𝐨𝐯𝐢𝐝𝐞𝐝, 𝐞𝐯𝐞𝐫𝐲𝐭𝐡𝐢𝐧𝐠 𝐦𝐮𝐬𝐭  

 𝐛𝐞 𝐜𝐨𝐩𝐢𝐞𝐝 𝐢𝐧 𝐭𝐡𝐞 𝐌𝐚𝐭𝐡𝐞𝐦𝐚𝐭𝐢𝐜𝐬 𝐜𝐨𝐩𝐲 𝐚𝐧𝐝 𝐭𝐡𝐞𝐧 𝐝𝐨 𝐭𝐡𝐞 𝐇𝐎𝐌𝐄𝐖𝐎𝐑𝐊 𝐢𝐧 𝐭𝐡𝐞 𝐬𝐚𝐦𝐞 𝐜𝐨𝐩𝐲. 

𝐂𝐇𝐄𝐂𝐊 𝐘𝐎𝐔𝐑 𝐏𝐑𝐎𝐆𝐑𝐄𝐒𝐒 
 𝟏.  (𝐯) 𝐒𝐨𝐥𝐯𝐞 𝐭𝐡𝐞 𝐞𝐪𝐮𝐚𝐭𝐢𝐨𝐧 ∶   

𝟐𝐱−𝟑

𝟓𝐱−𝟒
=

𝟐𝐱+𝟏

𝟓𝐱+𝟐𝟎
  

 𝐆𝐢𝐯𝐞𝐧 ∶                       
𝟐𝐱−𝟑

𝟓𝐱−𝟒
=

𝟐𝐱+𝟏

𝟓𝐱+𝟐𝟎
   

         ⟹                        (𝟐𝐱 − 𝟑) (𝟓𝐱 + 𝟐𝟎) = (𝟐𝐱 + 𝟏)(𝟓𝐱 − 𝟒) 

         ⟹                        𝟏𝟎𝐱𝟐 + 𝟒𝟎𝐱 − 𝟏𝟓𝐱 − 𝟔𝟎 = 𝟏𝟎𝐱𝟐 − 𝟖𝐱 + 𝟓𝐱 − 𝟒 

         ⟹                        𝟐𝟓𝐱 − 𝟔𝟎 = −𝟑𝐱 − 𝟒 

         ⟹                        𝟐𝟓𝐱 + 𝟑𝐱 = −𝟒 + 𝟔𝟎 

         ⟹                        𝟐𝟖𝐱 = 𝟓𝟒 

         ⟹                         𝐱 = 𝟐             𝐀𝐧𝐬. 

 𝟓. 𝐓𝐡𝐞 𝐧𝐮𝐦𝐞𝐫𝐚𝐭𝐨𝐫 𝐨𝐟 𝐚 𝐫𝐚𝐭𝐢𝐨𝐧𝐚𝐥 𝐧𝐮𝐦𝐛𝐞𝐫 𝐢𝐬 𝟖  𝐥𝐞𝐬𝐬 𝐭𝐡𝐚𝐧 𝐢𝐭𝐬 𝐝𝐞𝐧𝐨𝐦𝐢𝐧𝐚𝐭𝐨𝐫. 𝐈𝐟 𝐭𝐡𝐞 𝐧𝐮𝐦𝐞𝐫𝐚𝐭𝐨𝐫 𝐢𝐬  

      𝐢𝐧𝐜𝐫𝐞𝐚𝐬𝐞𝐝 𝐛𝐲 𝟐 𝐚𝐧𝐝 𝐝𝐞𝐧𝐨𝐦𝐢𝐧𝐚𝐭𝐨𝐫 𝐢𝐬 𝐝𝐞𝐜𝐫𝐞𝐚𝐬𝐞𝐝 𝐛𝐲 𝟏, 𝐭𝐡𝐞 𝐧𝐮𝐦𝐛𝐞𝐫 𝐨𝐛𝐭𝐚𝐢𝐧𝐞𝐝 𝐢𝐬 
𝟏

𝟐
 . 

      𝐅𝐢𝐧𝐝 𝐭𝐡𝐞 𝐧𝐮𝐦𝐛𝐞𝐫. 

 𝐒𝐨𝐥𝐮𝐭𝐢𝐨𝐧 ∶   𝐋𝐞𝐭 𝐝𝐞𝐧𝐨𝐦𝐢𝐧𝐚𝐭𝐨𝐫 𝐨𝐟 𝐚 𝐫𝐚𝐭𝐢𝐨𝐧𝐚𝐥 𝐧𝐮𝐦𝐛𝐞𝐫 = 𝐱  

                        𝐀𝐧𝐝  𝐢𝐭𝐬 𝐧𝐮𝐦𝐞𝐫𝐚𝐭𝐨𝐫 = 𝐱 − 𝟖   

                ∴      𝐅𝐫𝐚𝐜𝐭𝐢𝐨𝐧 =  
𝐱−𝟖 

𝐱
   

 𝐀𝐜𝐜𝐨𝐫𝐝𝐢𝐧𝐠 𝐭𝐨 𝐪𝐮𝐞𝐬𝐭𝐢𝐨𝐧,           
𝐱−𝟖+𝟐 

𝐱−𝟏
=   

𝟏

𝟐
  

                                          ⟹             
𝐱−𝟔 

𝐱−𝟏
 =   

𝟏

𝟐
  

                                          ⟹            𝟐 × (𝐱 − 𝟔)  =  𝐱 − 𝟏 

                                          ⟹            𝟐𝐱 − 𝟏𝟐 =  𝐱 − 𝟏 

                                          ⟹            𝟐𝐱 − 𝐱 = −𝟏 + 𝟏𝟐 

                                          ⟹             𝐱 = 𝟏𝟏         ∴      𝐅𝐫𝐚𝐜𝐭𝐢𝐨𝐧 =  
𝟏𝟏−𝟖 

𝟏𝟏
=  

𝟑

𝟏𝟏
    𝐀𝐧𝐬. 



 𝟖. 𝐓𝐡𝐞 𝐝𝐢𝐠𝐢𝐭𝐬 𝐨𝐟 𝐭𝐰𝐨 𝐝𝐢𝐠𝐢𝐭 𝐧𝐮𝐦𝐛𝐞𝐫 𝐝𝐢𝐟𝐟𝐞𝐫 𝐛𝐲 𝟕. 𝐈𝐟 𝐭𝐡𝐞 𝐝𝐢𝐠𝐢𝐭𝐬 𝐚𝐫𝐞 𝐢𝐧𝐭𝐞𝐫𝐜𝐡𝐚𝐧𝐠𝐞𝐝 𝐚𝐧𝐝 𝐭𝐡𝐞 

      𝐫𝐞𝐬𝐮𝐥𝐭𝐢𝐧𝐠 𝐧𝐮𝐦𝐛𝐞𝐫 𝐢𝐬 𝐚𝐝𝐝𝐞𝐝 𝐭𝐨 𝐭𝐡𝐞 𝐨𝐫𝐢𝐠𝐢𝐧𝐚𝐥 𝐧𝐮𝐦𝐛𝐞𝐫 𝐰𝐞 𝐠𝐞𝐭 𝟏𝟐𝟏. 

      𝐅𝐢𝐧𝐝 𝐭𝐡𝐞 𝐨𝐫𝐢𝐠𝐢𝐧𝐚𝐥 𝐧𝐮𝐦𝐛𝐞𝐫. 

 𝐒𝐨𝐥𝐮𝐭𝐢𝐨𝐧 ∶   𝐋𝐞𝐭 𝐮𝐧𝐢𝐭′𝐬 𝐝𝐢𝐠𝐢𝐭 𝐛𝐞   𝐱   𝐚𝐧𝐝   𝐭𝐞𝐧′𝐬 𝐝𝐢𝐠𝐢𝐭    𝐱 − 𝟕    

                        𝐎𝐫𝐢𝐠𝐢𝐧𝐚𝐥  𝐧𝐮𝐦𝐛𝐞𝐫 = 𝟏𝟎(𝐱 − 𝟕) + 𝐱 = 𝟏𝟏𝐱 − 𝟕𝟎  

 𝐀𝐟𝐭𝐞𝐫 𝐢𝐧𝐭𝐞𝐫𝐜𝐡𝐚𝐧𝐠𝐢𝐧𝐠 𝐭𝐡𝐞 𝐝𝐢𝐠𝐢𝐭𝐬,    

                         𝐔𝐧𝐢𝐭′𝐬 𝐝𝐢𝐠𝐢𝐭 𝐛𝐞   𝐱 − 𝟕   𝐚𝐧𝐝   𝐭𝐞𝐧′𝐬 𝐝𝐢𝐠𝐢𝐭    𝐱  

                         𝐑𝐞𝐬𝐮𝐥𝐭𝐢𝐧𝐠 𝐧𝐮𝐦𝐛𝐞𝐫 = 𝟏𝟎𝐱 + 𝐱 − 𝟕 = 𝟏𝟏𝐱 − 𝟕   

 𝐀𝐜𝐜𝐨𝐫𝐝𝐢𝐧𝐠 𝐭𝐨 𝐪𝐮𝐞𝐬𝐭𝐢𝐨𝐧,         𝟏𝟏𝐱 − 𝟕 + 𝟏𝟏𝐱 − 𝟕𝟎 = 𝟏𝟐𝟏 

               ⟹          𝟐𝟐𝐱 − 𝟕𝟕 = 𝟏𝟐𝟏 

               ⟹          𝟐𝟐𝐱 = 𝟏𝟐𝟏 + 𝟕𝟕 

               ⟹          𝟐𝟐𝐱 = 𝟏𝟗𝟖       ⟹        𝐱 = 𝟗   

                ∴           𝐎𝐫𝐢𝐠𝐢𝐧𝐚𝐥  𝐧𝐮𝐦𝐛𝐞𝐫 = 𝟏𝟏𝐱 − 𝟕𝟎 = 𝟏𝟏(𝟗) − 𝟕𝟎 = 𝟐𝟗   

   𝐇𝐞𝐧𝐜𝐞,   𝐧𝐮𝐦𝐛𝐞𝐫 𝐢𝐬    𝟐𝟗  𝐨𝐫   𝟗𝟐        𝐀𝐧𝐬. 

 𝟏𝟑. 𝐒𝐨𝐥𝐯𝐞 𝐭𝐡𝐞 𝐢𝐧𝐞𝐪𝐮𝐚𝐥𝐢𝐭𝐲 𝐚𝐧𝐝 𝐠𝐫𝐚𝐩𝐡 𝐢𝐭𝐬 𝐬𝐨𝐥𝐮𝐭𝐢𝐨𝐧 𝐨𝐧 𝐚 𝐧𝐮𝐦𝐛𝐞𝐫 𝐥𝐢𝐧𝐞 ∶ 

                         −
𝟏

𝟒
 ≤  

𝟏

𝟐
 –  

𝐱

𝟑
  <  2,     𝐱   ∈   𝐈  

 𝐆𝐢𝐯𝐞𝐧 ∶          −
𝟏

𝟒
 ≤  

𝟏

𝟐
 –  

𝐱

𝟑
  <  2  

          ⟹           −
𝟏

𝟐
 –

𝟏

𝟒
 ≤  −

𝟏

𝟐
+  

𝟏

𝟐
 – 

𝐱

𝟑
  <  2 −  

𝟏

𝟐
             𝐀𝐝𝐝𝐢𝐧𝐠  −

𝟏

𝟐
 

         ⟹             −
𝟑

𝟒
≤  – 

𝐱

𝟑
  <   

𝟑

𝟐
   

         ⟹               𝟑 × ( 
−𝟑

𝟒
 )   ≤  ( – 

𝐱

𝟑
 )  × 𝟑 <   

𝟑

𝟐
 × 𝟑                   𝐌𝐮𝐥𝐭𝐢𝐩𝐥𝐲 𝐛𝐲  𝟑   

         ⟹              −
𝟗

𝟒
 ≤  −𝐱 <  

𝟗

𝟐
    

         ⟹                  
𝟗

𝟒
  ≥   𝐱 >  −

𝟗

𝟐
                          𝐌𝐮𝐥𝐭𝐢𝐩𝐥𝐲 𝐛𝐲  − 𝟏  𝐚𝐧𝐝 𝐫𝐞𝐯𝐞𝐫𝐬𝐞 𝐭𝐡𝐞 𝐬𝐲𝐦𝐛𝐨𝐥 

  𝐇𝐞𝐧𝐜𝐞 , 𝐬𝐨𝐥𝐮𝐭𝐢𝐨𝐧 𝐬𝐞𝐭 = { −𝟒,   − 𝟑,    − 𝟐,   − 𝟏,    𝟎,   𝟏,    𝟐  }       𝐀𝐧𝐬. 

 



 𝐆𝐫𝐚𝐩𝐡𝐢𝐜𝐚𝐥 𝐫𝐞𝐩𝐫𝐞𝐬𝐞𝐧𝐭𝐚𝐭𝐢𝐨𝐧  

  

                                             −𝟒      − 𝟑     − 𝟐      − 𝟏         𝟎            𝟏         𝟐             𝟑            𝟒 

 

 

 

                                                                              𝐇𝐎𝐌𝐄𝐖𝐎𝐑𝐊 

                                                                   𝐂𝐇𝐄𝐂𝐊 𝐘𝐎𝐔𝐑 𝐏𝐑𝐎𝐆𝐑𝐄𝐒𝐒 

                                      𝐐𝐔𝐄𝐒𝐓𝐈𝐎𝐍 𝐍𝐔𝐌𝐁𝐄𝐑𝐒 ∶    𝟏(𝐢𝐢), (𝐯𝐢);       𝟑,    𝟕     𝐚𝐧𝐝     𝟏𝟐 

                                                          MATHS  PRACTICAL         

   Points to remember . 

*Read and understand the experiment. 

*In the Maths Practical Copy write down AIM, MATERIAL REQUIRED , METHODOLOGY , TABULAR 

COLUMN and CONCLUSION on the ruled page. DIAGRAM and CALCULATION on the plane page. 

*Follow the PROCEDURE properly to get the correct conclusion. 

*MATHS PRACTICAL COPY must be a soft cover Lab copy with atleast  50 to 60 pages. 

 

                                                                       EXPERIMENT  NO  . 4 

AIM : To identify  cuboidal box  and to calculate its surface area ( Internal  & External) and volume ( 

Internal & External) . Also determine the Cube with maximum volume that can be placed in it. 

 MATERIALS  REQUIRED 

 1. Ruler , 2. Pencil 

METHODOLOGY 

Surface area of cuboid  = 2(𝑙𝑏 + 𝑏ℎ + 𝑙ℎ) 

Volume of Cuboid = 𝑙𝑏ℎ 



Volume of Cube = 𝑎3 

PROCEDURE 

Select atleast four Cuboidal boxes from the surroundings , measure its length and breadth and height 

(both  internal & external). ( eg. Shoe box , Chocolate box,  etc. ). Calculate its surface area (both  

Internal & External)and Volume ( both Internal & External) with the help of formula. Also calculate the 

Volume of a Cubical box with maximum volume that can be placed in each of the selected Cuboidal 

boxes. 

OBSERVATION TABLE  

 

Trial 
No 

Name of 
the 
objects 

            Dimensions (cm) Surface area (𝒄𝒎𝟐)         Volume (𝒄𝒎𝟑)       Cube 

        External Internal External Internal Internal External edge Volume 

L B H l b h 

1 
2 
3 
4 
 

             

CONCLUSION  

Dimension of the Cubical box with maximum volume that can be placed  in the cuboidal box  is 

______________  of the cuboidal box. 

************************************************************************************* 

 

 


